A = 0l & W 9 A
SIHHE 2008
Olats=2 + =3 18
Sna . amay 22 )
S IS B = 2 L N ) Off &4 JIE O &kl Hlns2 & E 2 A
S A 44,701,168 29,208,256 15,492,912
AL S B AL A 44,701,168 29,208,256 15,492,912
KIS0 &AL 18,046, 127 2,660,674 15,385,453
FOEHAAIL 2HE 18,046, 127 2,660,674 15,385,453
TEZHEANE(ZERE)LX 211,440 0 211,440
401 A& HIZL 2 OHYI 211,440 0 211,440
10,000 0 10,000 |02 & AIEHHI 10,000
OFELR Y FHIHISA &AIZAbI
10,000, 000& «14l= 10,000
200,000 0 200,000 |04 Al&H] 200,000
OFEE E5& FHZUISA 200,000,000 *141= 200,000
1,440 0 1,440 (06 Al£=20Hbl 1,440
OFELR FEFE FHIHISA AIZ20UHI
200,000,000 %0.72/100= 1,440
SHO2I0tS SEHL A 16,070,875 1,019,300 15,051,575
201 LEt24Ed| 1,575 0 1,575
1,575 0 1,675101 AtS2t2|H] 1,575
O5. =&l 1,575
-H0Ici0lE SEMHE AIEFE SEl
7,0003 3E «15L +5& = 1,575
401 AIEHIZL 28I 16,056,300 1,006,300 15,050,000
16,000,000 1,000,000 15,000,000 |03 EXI0H bl 15,000,000
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& AEBAAL A
G e Zameis as (esria)
- E R R E 04l &t o NE o arey HREZ &z 2
O%OI2I0E ZEML EX0HL Y|
M 16,000,000,000% - & 1,000,000,000%= 15,000,000
56,300 6,300 50,000 (06 Al & CH| 50,000
O%Oi2lle SN SY+42 L SIIS=|
50,000, 0002 %141 = 50,000
zoI=x @ 2 1,763,812 1,641,374 122,438
202 O1H| 5,620 4,320 1,300
5,620 4,320 1,300 (01 =UHOIbI 1,300
O%0i2I0e YRR oY
2 4,320,002 - I 2,880,0008= 1,440
OTEE HSAE LLETOHI(EL)
2% 1,300,0008 - JIE 1,440,0002= A140
301 LR AZ 1,817 3,634 A1,817
1,817 3,634 A1,817|09 Bo2RoABAS A1,817
OECEEX-E1EED
2 1,817,002 - JIE 3,634,0008= A1,817
401 AlSHIL ST 1,750,920 1,627,420 123,500
89,750 46,750 43,000 (02 &1 Al ] 43,000
OHYS =Xsl2 A AALAY
A 89,750,008 - JIE 46,750,0002= 43,000
1,655,500 1,575,000 80,500 (03 & XI 0§ 2! 80,500
OHYS =Xsl2 NES B4 80,500,000 +141= 80,500
405 THo+E Sl 5,455 6,000 A545
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= AL BB AL
x NPT of xie
ZOIHUAIS 2 (69 & 8)
=L = R E e 04 &k o4 JIE 0 ook HmE=ET &z 2
5,455 6,000 AB45 (01 Tt S EH S 545
ORMUSEFSHI(RY)
2 5,455,002 - JI& 6,000,0008= ~545
54 S A Abe! 4,055,041 3,947,582 107,459
BHAEIY 2rolA 1,248,287 1,331,638 83,351
BH+EZY RXe 1,208,379 1,291,730 83,351
201 LB | 479,605 470,830 8,775
34,345 25,570 8,775 (01 Al=22lY] 8,775
O5. 2l A225
SHISEIY ST ORI2SX BA(RY)
2 2,005,002 - & 2,250,0008= ~228
O6. 4% 2 9,000
SASESUE LAIIL R
3 1,000,00020+3CH#53] - JIF 6,000,0008= 9,000
401 AlEHIL LY 727,874 820,000 £92,126
727,334 820,000 £92,666 |04 A& Y] £.92,666
OYUSHIR FIZIIDH(R2)
28 358,140,0008 - JI& 480,000,0002= A121,860
OEHSHIR +242/(RY)
2T 43,087,302 - JIF 60,000,0008= £16,962
OTEE =f2 +2 &X(2Y)
28 6,470,3002 - JI& 20,000,008 = ~13,529
OUUNSHIOY 4 S I (473hp) FHI (Z)
AT 44,684,1702 - JIF 60,000,0008= A 15,315
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SN ALEANLL
Ho# o ST LAY e
o HABII PrRIAY (69 & 8)
- 04 &k o4 JIE 0 ook HmE=ET &z 2
OB59E 0/SA BI &3
2% 85,000,0002 - JI& 70,000,0002= 15,000
O EAUYBA 60,000, 00021 #141= 60,000
540 0 540|06 Al&SCH 540
OBt4+E AEZA ALY
60,000, 00021 %0.90/ 100= 540
St T A (M2l e el) A 462,754 271,944 190,810
sca 462,754 271,944 190,810
401 AlSHI LS THYI 462,754 271,944 190,810
460,000 270,000 190,000 |04 Al & H] 190,000
OSSNAMHOIAZot+TIHR 4+ T A
28 150,000,0008 - J1& 100,000,0002= 50,000
OSUN LT EH
28 150,000,0008 - J1& 100,000,0002= 50,000
OYS S22l G4 E FHITAHL=100m)
30,000, 00021 +141= 30,000
OHG® 0l-el G4 & X2 AHL=100m)
60,000, 00021 #141= 60,000
OO U2 5H4 & & X2 AH(L=200m) (R 2)
2% 20,000,0008 - JIF 40,000,0008= 20,000
OTHZ O HILH22! k4 F & XI 2 AH(L=50m) (£27] B )
20,000, 00021 *141= 20,000
2,754 1,944 810|06 Al& S CH 810
OBt A AIZRTHEl 90,000,00021%0.90/ 100= 810
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